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HA 1. MYME WS FHA)

1. M
(29l 2)
g = Of| &kt S 0| =l
IR e SUEZENMASE |HER A 73,520,000 72,990,000 530,000
24 73,520,000 72,990,000 530,000
QZHRIE = QIZERIErS 651,000,000 651,000,000 -
IE= QIZFCHR AL QIE{U S S EAH 35,590,000 35,590,000 -
SYAMYE 7|EtM R 43,589,000 43,589,000 -
24 730,179,000 730,179,000 -
olga ez ol 43,265,955 43,265,955 -
olEta % of O3+ 10,000,000 - 10,000,000
QIZERIES 200,000 86,759 113,241
At Q4= HxZ 0[X - 65 (65)
O|Rp£=¢
M= F 0|t - 51,879 (51,879)
T - 550 (550)
7|EtE = ZOESY 90,000 73,550 16,450
2 53,555,955 43,478,758 10,077,197
A 857,254,955 846,647,758 10,607,197




2. HE

o & = of| Akt T3 o Tkl
bl 7l2g 310,192,736 307,905,430 2,287,306
7| St 24,493,700 24,493,700 -
pJEPS 3,629,290 3,629,290 -
A2ag 3,437,680 3,437,680 -
01748 - b Eag=Eat=y 8,937,890 912,697 8,025,193
=4 e|gfsg 2,774,370 2,774,370 -
HHG A 15,458,120 15,458,120 -
YEB7H]| 29,052,080 29,052,080 -
C7HE A 2,479,340 1,479,340 1,000,000
WNEHZH| 15,740,790 15,740,790 -
AP EHE(H| 15,793,792 12,133,939 3,659,853
L2 | 332gH| 22,440,950 22,382,310 58,640
HEHEX|H A A| 4,025,000 4,025,000 -
=7H| ofH = LjofH| 2,000,000 340,000 1,660,000
7|32 YRE=T| 4,200,000 4,200,000 -
PR Ty SEM2ELARFTY| 2,400,000 2,400,000 -
HATHE Y R =T 480,000 480,000 -
Z8F durdolg & 3,000,000 3,000,000 -
dgolH sosca = E[X S0 REF 42,271,068 42,043,408 227,660
A2 2SR EF 39,329,740 37,541,730 1,788,010
AEXE AlH]| Xpb S 2 EF S| 800,000 463,760 336,240
oA HALAH]| SERI AR 73,646,000 56,400,970 17,245,030
S EALH] 41,530,000 41,530,000 -
S Apoy| Ofl i S AHRIH 65,000,000 65,000,000 -
AR 8,430,000 8,430,000 -
AL SEAH| 6,300,000 6,300,000 -
TIChR AL 14,600,000 14,600,000 -
SRR FHESMEE NS 2,400,000 2,400,000 -
7|EtE =AM H| TR A AL HIX[ ALY 35,590,000 35,250,249 339,751
IEXFHE 10,589,000 10,589,000 -
e-Md AFEHETAM 16,000,000 16,000,000 -
AHRIQIX|E AHRIQIX|E olElg W o3 XIE 10,000,000 - 10,000,000
oflH|H| of|H| b 15,000,000 - 15,000,000
ojjHlH] % 7|E} ureta 9 (e QIZHQ|Etdtetm 5,227,395 5,227,395 -
7|Ettet g 6,014 6,012 2
27 857,254,955 795,627,270 61,627,685
QIZtRlEfFHEStE - 367,411 (367,411)
Ard=g dtetg - 50,513,824 (50,513,824)
ofulE 2 7lE |ttdzo|eE Eiiiifﬁ?a - 86'722 S
Aglelag wag oo T - (€5
A= O|Rp=¢ - 51,879 (51,879)
1 2 oAt - 550 (550)
24 - 51,020,488 (51,020,488)
A 857,254,955 846,647,758 10,607,197
*ARLHM9EMEHZ
a5 Of| AHH 4 oA T Tkl
F2LHMoAAEN G - ' _




1. UZELIENS W WZFIERALH|
(1 &)
2 g = Of| kot ol Tkt
pukal] lga 307,905,430 307,905,430 -
7|H 24,493,700 24,493,700 -
HNEE 3,629,290 3,629,290 -
A 3,437,680 3,437,680 -
ol 71| AEZ2g 488,650 488,650 -
=g Ze|gReg 2,774,370 2,774,370 -
HHGAH| 15,458,120 15,458,120 -
FHEZ 7| 29,052,080 29,052,080
ATt AbH| 1,479,340 1,479,340
DNEHZH| 15,740,790 15,740,790
AR 22| 11,193,792 11,193,792
L2 Ay 32| 20,380,950 20,380,950 -
e UEHEX| M = Al ZH] 4,025,000 4,025,000 -
7|2 YR =TH| 4,200,000 4,200,000 -
AR FTH| EMSIAYRFT| 2,400,000 2,400,000 -
YRR ST 480,000 480,000 -
Zds dardolg 3,000,000 3,000,000 -
ddoI™ ST BN REHS 42,071,068 42,043,408 27,660
A 2HREF 37,529,740 37,529,740 -
S EALH] 41,530,000 41,530,000 -
T Eh ek EFALH] K| A 35,590,000 35,250,249 339,751
AL S| Of| 2t 0 S AL H 65,000,000 65,000,000 -
ATAL | 8,430,000 8,430,000 -
SHEAIH| 6,300,000 6,300,000 -
e 686,590,000 686,222,589 367,411
ofH|H| 5! 7[Et gteta % 7B DIZtREIFHES - 367,411 (367,411)
27 - 367,411 (367,411)
A 686,590,000 686,590,000 -
*ARLHM9EMETNF
a5 Of| AHH A of T o Tkt
FAELHoEAMERNZ . i j




HAE -2. ZH|E ME LY

2.8x2
2 = = Of| &+t e
RICEEA} 14,600,000 14,600,000
SIHOMHEAQDI DS
Arels] J|Ep A S| SIHOMBEMSE| NG 2,400,000 2,400,000
IEX U 10,589,000 10,589,000
e-Mle AFEEHN 16,000,000 16,000,000
A 43,589,000 43,589,000
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3. XM+ U MEFY)

(B &)
2 & = of| Akt e Kol
Q17| b=y 2,287,306 - 2,287,306
ol 7AH| s AxtaE et 8,449,240 424,047 8,025,193
=]
A7k A 1,000,000 - 1,000,000
aure gy AHR2H2|H] 4,600,000 940,147 3,659,853
S| 332YH| 2,060,000 2,001,360 58,640
ofH| ofH 2,000,000 340,000 1,660,000
Aarol sigmoa = EXZorEa 200,000 - 200,000
A2 REF 1,800,000 11,990 1,788,010
XEXE Al Xpab 2 2EFSH| 800,000 463,760 336,240
AL H| GUAEZ 2O MALUH| |- =AY 73,646,000 56,400,970 17,245,030
e 96,842,546 60,582,274 36,260,272
ojjHlH] % 7|E} gtetg A 7|Et A gtetg - 50,513,822 (50,513,822)
A - 50,513,822 (50,513,822)
A 96,842,546 111,096,096 (14,253,550)




(EFS:

o

)

2 g = of| kot SR T
At QIX| = INR LIPS oleta % ol=3 X|E 10,000,000 - 10,000,000
of|H|H| Oj|H|H| 15,000,000 - 15,000,000
olb|H] 3¢ 7|E} w9 7|e} AH ExF8tetg 5,227,395 5,227,395 -
7|Et 6,014 6,012 2
e 30,233,409 5,233,407 25,000,002
QIZtRIErS O|Xt=2 - 86,759 (86,759)
2R3 O|RXt+g - 65 (65)
ofje|H| S 7|Et gietm & 7|EL A= Bretg (Xta| 4= F Ol K=Y - 51,879 (51,879)
XM =a 0| &Y - 2 3]
g - 550 (550)
B - 139,255 (139,255)
A 30,233,409 5,372,662 24,860,747
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(1) LZLRAEAIE O] CHet O|XtAS AW E 4 BA OjX2|
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